pr < 0.8 GeV/c

0.8 <pr <1.2GeV/c

pr > 1.2 GeV/c

y (RMS) Ratio y (RMS) Ratio y (RMS) Ratio

Vs =10.9 TeV

25 <n<3.0 - 2.42 (0.24) 1.107 £0.020 £ 0.349 | 2.63 (0.16) 0.794 +0.015 £ 0.089
3.0<n <35 | 2.58 (0 27) 0.751 +0.011 +£0.163 | 2.96 (0.25) 0.684 +0.010 +0.049 | 3.08 (0.23) 0.614 £ 0.010 £ 0.047
35<n<4.0 | 296 (0.11) 0.729 4+ 0.007 4+ 0.040 | 3.40 (0.22) 0.576 + 0.007 + 0.032 | 3.56 (0.24) 0.456 + 0.009 + 0.033
40<n<45 | 3.34 (0. 24) 0.660 4+ 0.009 = 0.046 | 3.87 (0.14) 0.451 £ 0.009 + 0.038 | 4.02 (0.25) 0.328 +0.010 £ 0.049
/5 =7 TV

25<n<30 - 2.41 (0.25) 1.181 +0.020 £0.195 | 2.63 (0.16) 0.880 % 0.009 £ 0.039
3.0<n<35 | 2.55 (0 27) 0.734+0.011 +£0.124 | 2.98 (0.25) 0.942 +0.011 +0.036 | 3.12 (0.22) 0.905 =+ 0.008 + 0.026
35<n<4.0 | 296 (0.09) 1.015+0.009+0.037 | 3.40 (0.23) 0.916 & 0.007 £ 0.022 | 3.59 (0.24) 0.903 + 0.008 £ 0.023
40<n<45 | 3.34(0.21) 0.957+0.010 £ 0.051 | 3.86 (0.19) 0.906 & 0.010 £ 0.039 | 4.06 (0.25) 0.831 +0.010 & 0.050



